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3rd Semester Examination
ECONOMICS (General)
Paper - DSC 1C-T
(Development Economics)
Full Marks : 60 Time : 3 Hours

The question are of equal value for any group/half. The
figures in the margin indicate full Marks. Candidates are
required to give theri answers in their own words as far
as parctiable. lllustrate the answers wherever necessary.

Group -A

1. Answer any fen questions : 10x2=20

a) What do you understand by economic growth ?
b) Define ecomonic development ?

¢) Give two reasons why Per Capita Income (PCI) is
not an adequate measure of economic development ?

d) What is Purchasing Power Parity (PPP) 7
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(2)
€) Define warranted rate of growth. ¢
f) Give any two features of less Developed Countries.
g What is lareny Curve ?
h} Define Gini Coefficient ?

) Write atleast two assumptions of Solows model of
economic growth.

J) What is Head Count ratio ?
k) What is Poverty Gap Ratio ?

) What are the three variables that are taken into
consideration for measuring Human Development
Index (HDI) ?

m} What is dependency school of development ?
n) What is HPI ?

0) Mention two advantages of FDI in economic
development.

Group - B
2. Answer any fowr questions : 4x5=20

a) Briefly explain the role of foreign investment in
economic development.

b} Distinguish betweet the notions of economic growth
and economic development.
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(3)

c) Write u short note on Gender Development Index.
(GDI),

d) How 1s Sen’s measure an improvement over
wraditional measures of poverty ?

e) Distinguish between absolute and relative poverty.
f) Explain the notion of Poverty trap'
Group - C
1. Answer any fwo questions : 2x10=20

a) What is HDI ? Briefly explain how HDI 18
concluded.

b) Examine Domar's model of growth. What is the
significance of technological innovation in such model 7

¢) Examine the role of State in economic development.

d) Distinguish between balanced and unbalanced growth.
Which approach will you prefer for economic

development. Explain with reasons.
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(5)
©) Dependery school of development FICF A= ?

5) HPI 52
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